SAMPLE MIDTERM 1
MAT 125 Spring 2004
Midterm 1 is 8:30-10:00pm,
Monday, 2/23/04

1. Place the letter corresponding to the correct answer in the box next to each question. Each
question is worth 1 point.

(i) d Suppose f is a linear function such that f(1) = —1 and f(3) = 2. Then f(4) =7
(a) 3 (b) 33 (c) 32 (d) 3; (e) 32 (f) none of these.

(ii) 6 Simplify log,(42*2%) (a) In2+2Inz+z (b) log, 2+2!0g29:+:1: (¢) n4+42Inz+
zln2 (d) 2+ 2lnz+z (e) 2+ 2logyz + z (f) none of these

leg, (4) #2lox + xlg, 2. = 2*—%5 —

T
(iii) Using the infomation in the table, estimate logg 5. 3 1 10
4
5

(a) 1.16 (b) 1.26 (c) .68 (d) .86 (e) 1.46 (f) none of 139
Wiese: = [0S G/ 161
m — h r 4
}‘/3; - / :\:/’%é

(iv) a Express the following function as an explicit formula: take a number and add 1 to
it; then square the result and multiply by 4. (a) f(z) = 4(z+1)% (b) f(z) = (4= +1)*
(c) f(z) =42? +1 (d) f(z) = (4x)* +1 (e) f(x) = 4(x* + 1) (f) none of these.

(v) a The function h(z) = z* + 1 is a composition of the form A(z) = f(g(z)) where
(a) f(z) = «* and g(z) = 1 (b) f(z) = z* and g(z) = z+1 (c) f(z) =z + 1 and
g(z) = 2% (d) f(x) = z and g(z) = z? (e) f(z) = (2 + 1)* and g(z) = —22 (f) none

(vi) d Which of the following functions is not defined for all real numbers? (a) y =
sin(z?) (b) In(1 + 2?) (c) y = ¢*® (d) y = In(sin(z)) (e) y = /cos(x) + 2 (f) none

swee & s Liwena , 1) = ?(x-f)-l 50 'F(‘f)-g"/

;
5%

of these. ELRsT SQUALE X [30:)) 5 THEN ALD 4. ('PCK}J

of these. SICE SIMX <O For SoME A, ALY Dowp 14)

Io? = |ood |
(viii) C Suppose f is graphed in the figure on the right. - f 5 e
Let g(z) = 4~ f(x +4). Where does g take its maximum _["7Y] ] o

value on —4 <z < 4. 4LV )&_\ =
(a) z=-2(b) z = -1 (c) z=0{d)z=1(e) £ =384 &
(f) none of these.

(ix) What is the degree 5 coefficient of the polynomial p(z) = z*(z+1)(z+32> +42)7
(a) 0 (b) 1 (c) 2 (d) 3 (e) 4 (f) none of these.

Ger x5 By x*e|*3x> owly

(vii) d Simplify log,,1000. (a) 1 (b) 2 (¢) 1/2 (d) 3&(5:4 (fl')‘?ugfw 015 Eh’ese.x >0,

a's maxmum, s p’“s MIIMUM, 5HH;7;?D



5. finding the correct formula for each of its linear segments. Give the l:.—‘— 5

. Sketch
(i) y=52-2
(i) y = —a*+ 42 +4

(iii) y = vV6—x

. Find each of the following limits (or say that it does not exist). | FoR X > ®)
(i) lim, oz/jz|. DOES NOT EXIST SIICE ,'5, = /- For x40

(i) im0 vZ+4d =\J§ = &
(iii) limg_p2®+2 = G2 = 1O
(iv) lime p(a® = 4)/(z~2) = | 1M (x#2)(x-2) - ;m (xﬂ) i
() limg (s + Df@@—1). ~—— e A72
JES WO EXIST.

. Answer the following questions based on the graph of the function f below. Assume the
domain of the function is the interval 0 < z < 8.

(i) What is f(—3)? L}- E“f' :
(i) What is lim,_,_+ f(z)? —& e e _7\ 2
(iii) At what point is f continuous from the left but not FeFs Fa 32Kl 1 2715 [a N5 16
continuous from the right? -3 o 12
5
(iv) Where is f diswntinuous" »

=5, <1y oo 2 BEERINEN

Find a formula. for t.he piecewise linear function g graphed below by | ot N i 4

intervals on which each formula is vall I e
be)= 3%, €O x£= Ke2 PR K3 [TTTTTTT
g X FOR 2exg) =
6. Each of the Tollowing polynomials and rational functzonsxls graphed below. Match the
formulas to the correct graphs (shown on -2 <z <2). o

O z(z — 1)(2® — 4) E (z —1D*(z+2) F ”—Z§—1+5 D”zz‘lf-’('\';l

A ‘C/j\ [ B \\_%_U
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